




http://cafe.daurn.net/shinEmath [ I .  3lTl-q 49+1 



1, A B q  .lE $&Sq %G 2~)97)?2) [200137] KMC 52,241 

3. XI?!+ 4 9  N q  + 4g"d A = { 3 x l x ~ N ) ,  B = { 5 x I x = N ) q  q8)q 93 ,FS 

A B B  = { a +  b  1 a E A ,  b = ~ }  

z d q  2 4l, 4 9  N- ( A B B ) ~  =E %&q 9% 78)g?3) [7F]173l ~282q 31, 431 

Olympiad f ddf qa< - 3 -  





6. 571~4 -1J+z 017b-13 4% s7) gq. s 4  ~jz q$ 7 %&4 301 q%4 2% q, 4% S 

4 3&4 %2 @)97)?6) [ZOO29 371 KMC 5 2 ,  4 4 1  

23, 28, 29, 30, 31, 34, 35, 36, 40, 42 

Olympiad T=q% 3+yf qdg - 5 - 





[dplAl Z l  ?S"dW 7 1 9  
q$ 353% O,F+h]7]+ 4% X +  LZf 2 7197)?7) 

{ a ,  b) c X c  { a ,  b, c ,  d, e, f) 

8. 1% A = { a ,  b, c ,  d, el* B = { a ,  b)ql qS)q A q  +S.'d% 5 B t  X$kd)t "d %q 
7 H 9 t  %!~)97)?8) 14123j KMC 51, 2 3 1  

10. 4 % X = { l , 2 ,  3,  4 ,  5 ,  6 ,  7 ,  8 ) q  9 5 4 % 2 Z  
Aj  q+ <Ea>g *+A17)+ 4 q q  SqJ+ 2 

~F97F?lO)[20019 KMC 8 1 ,  4%1 

Olympiad f q% q a g  - 7 - 





13. All 7Hq 8*g E! El2 A= { a ,  b, c, d)qIAi 33 xc Y C A ~  2cf46t~g El2 x, 2s 

14. f x d q  a* b q  317) 0 55% 6 q  -llq9 q, a-b E 2  b = a 3  L f q q 7 1 Z  8)~). 4% 

S={O, 1, 2, 3, 4, 5 ) q  8%4% A = { X I  x2--x)* B = { x ~  7 x ~ l ) q  GlsFiF6C B c X C A S  9% 
A1 71 2 4 % X 2  Pf % 7H ?!7)?14) [Al83l KMC 5 1 ,  44 1 

Olympiad fq% 43f qag - 9 - 



[ I .  




